50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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C.

3 hrs. 5 ‘ Max. Marks:100

With the help of a flowchart, e
process.

4 %{@é (08 Marks)
‘‘‘‘‘ € "Force string matching*Find the number of character
comparisons that will be mad?@y the string matchmg algorlthm for the pattern ABABC in

the following text: BA ABAB AB C C A. Pe (06 Marks)
If fi(n)e o(gi(n)) and £ o(g2(n)), prove thatfy(n)y+ f2(n) € o(max{gi(n), g2(n)}.

(06 Marks)

A ¢

Solve the follo ws%cut’rencas
A(n) = A(/3) orn>1 A(1)=1,n 9
A(n) = A(Efz nforn>1,A(l)=1,n=2 (04 Marks)
Give thm for quicksort. Explain with a suxtable example. Is quicksort a stable

sort1 (07 Marks)
used in analyzing the worst case
?sm with the c@lgorlthm and suitable

(09 Marks)

efﬁmency of binary search a @gonthm" Show thg&)
examples.

?W‘\

roblem using greedy design technique:

213415
> 111415 Knapsack

capacity W= 16

20| 154050
{ (05 Marks)
Solve the following smgle squrce shortest path problem using A as the source vertex,
Fig.Q.3(c). (07 Marks)

Fig.Q.3(¢)
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C.

b.

d.

a.

b.

graph given below, Fig.Q.4(a)

10CS43

Explain Warshall algorithm to find transitive closure of a diagraph. Apply thlS algorithm to
(08 Marks)

.

Fig.Q.4(a)

State Floyd’s algorithm. Solve all pairs short hs problem for the graph, Fig.Q.4(b)
using Floyd’s algorithm. £ (08 Marks)

Fig.Q.4(b)

State 0/1 knapsack problem. Ho ‘it be solved using dyi niic programming? (04 Marks)
%} (Y

E& &

%«% PART - B v
Construct a DFS tree for tbe%llowmg undirected ggapﬁ; Fig.Q.5(a). Write algorithm and
explain. ) (10 Marks)
Differentiate.BFS and DFS.  # (04 Marks)

Explain sorting by counting. Writ@ge algorithm and sort.the list 62, 31, 84, 96, 19, 47.

(06 Marks)
Define: i) Class P ii) Class NP iii) NP hard (03 Marks)
What is numeric analysis? What is overflow ap vanalysis algorithms?
(04 Marks)

What are decision trees? Draw the decmorﬂ?e 40 sort elements u&mg selection sort.
& (08 Marks)
Discuss the cha nges of numerical lg@it (05 Marks)

State subset sUto) problem. Using baek %k%&
for s = {3, 546, 7} andd = 15. . . (06 Marks)
Draw st%t;e space tree to gengj@eﬁ%olutlons to the gﬁﬁﬂu@ens problem. (04 Marks)
ert%@e %teps for the nez s%@hbor algorithm on the travelling salesman problem. Apply

the algﬁrlthm for the vvvvv : ing mstance of the problem Fig.Q.7(c) and calculate the
) (06 Marks)
What is bra h and boundZ Hﬁﬂ is it dlfferent from back tracking? (04 Marks)

What is Prefix n'problem? Give algorithms for prefix computation which uses

iy” L]

i) n processors processors.
logn
Obtain time c¢ ities of these algorithms. (10 Marks)
Explain different'types of computational models. (10 Marks)
. % %k 3k k X%
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